



2016年薬学部(2日目)第3問

増田

3 $a_1 = 1, a_{n+1} = \frac{a_n}{(4n+1)a_n+1}$ ($n = 1, 2, 3, \dots$) で定まる数列 $\{a_n\}$ に対して、次の各問に答えよ。

(1) 数列 $\{a_n\}$ の一般項を求めよ。 (*)

(2) $\sum_{k=1}^n k(k+1)a_k a_{k+1}$ を求めよ。

(1) 与式(*)の逆数をとって

$$\frac{1}{a_{n+1}} = \frac{(4n+1)a_n+1}{a_n} = (4n+1) + \frac{1}{a_n}$$

$$b_n = \frac{1}{a_n} \text{ とおく。}$$

$$b_{n+1} = b_n + (4n+1)$$

$$b_n = b_1 + \sum_{k=1}^{n-1} (4k+1) \quad (n \geq 2)$$

$$= \frac{1}{a_1} + \frac{n-1}{2} (5+4n-3)$$

$$= 1 + (n-1)(2n+1)$$

$$= 2n^2 - n$$

$$= n(2n-1)$$

$$\underline{\underline{a_n = \frac{1}{b_n} = \frac{1}{n(2n-1)}}} \quad \begin{matrix} (n=1 \text{ 時} \\ \text{成立}) \end{matrix}$$

(2) $a_k = \frac{1}{k(2k-1)}, a_{k+1} = \frac{1}{(k+1)(2k+1)}$

だから、

$$\sum_{k=1}^n k(k+1)a_k a_{k+1}$$

$$= \sum_{k=1}^n \frac{k(k+1)}{k(2k-1)(k+1)(2k+1)}$$

$$= \sum_{k=1}^n \frac{1}{(2k-1)(2k+1)}$$

$$= \frac{1}{2} \sum_{k=1}^n \left[\frac{1}{2k-1} - \frac{1}{2k+1} \right]$$

$$= \frac{1}{2} \left[\left(\frac{1}{1} - \frac{1}{3} \right) + \left(\frac{1}{3} - \frac{1}{5} \right) + \left(\frac{1}{5} - \frac{1}{7} \right) + \dots + \left(\frac{1}{2n-1} - \frac{1}{2n+1} \right) \right]$$

$$= \frac{1}{2} \left(1 - \frac{1}{2n+1} \right)$$

$$= \underline{\underline{\frac{n}{2n+1}}}$$